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[loyemy 3TO BaXKHO

e be3spaboTuLa npsmoe nocneacTBue MakpPO3IKOHOMUYECKMX Npobiem
* YpOBEHb }KN3HU, YPOBEHb YAOBNETBOPEHUA U T.A.

e Ba*XHO C TOYKU 3peHNA NOJTUTUKOB
* CtpaxoBble cxema
* [leHcuKA
* MUHMUManNbHbIe 3apnaaThl

e bespaboTnuy U MHPNALMIO YAaCTO HA3bIBAOT «twin evil» MaKpPO3IKOHOMUKM
* Kpmneaa dnnnmnnca

e KpuBasa ®mnnmnca c NoNpPaBKoM Ha OXKMAaeMyto MUHOAALUUIO
* Kputunka Jlykoca



N3amepeHne 6e3paboTmubl

e Ba)KHO cneguTb Kak SKOHOMMKA MCMO/Ib3yeT BCe pecypcbl

 Onpochbl:
* 3aHAT
e PaboTanu xoTta 6bl yac

* be3paboTHbIN
* KTO mwet gonbule 4x Heaenb

 He B pabouen cune
d ,D,OMOXO3FIVIKM, CTYAEHTbI, NEHCNOHEPDI
e Discouraged workers

*L=E+U;u=-

L
adult population

e Labor Force Participation =


http://www.gks.ru/free_doc/new_site/population/trud/metodTrud.htm

Population: 239.9 million
(16 years and older)

labor force:

Unemployed:

14.0 million

Labor force
153.6 million



CTpYKTYpa 9KOHOMMYECKM aKTUBHOTO HaceeHmA
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http://research.stlouisfed.org/fred2/graph/?g=Tm0&utm_source=Twitter&utm_medium=SM&utm_campaign=Twitter

EcTecTBeHHbIN YpoBeEHb 6e3paboTuLbl U ODU3HEC LUK
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dopmanm3aumsa ecTecTBEHHOTo ypoBHA be3paboTuL

Tabnanua nepexona

Job Separation (s)

Employed Unemployed

Job Finding (f)



dopmanm3aumsa ecTeCTBEHHOTo YpoBHA be3paboTuLbl

YcnoBue paBHOBeCKA

e fU=s(L-U)

e L=E4+U
U U
e f—-=s5(1—-)
U L L
 be3paboTHble: n
_ U S 1
e Ycnosue pasHosecusA: fU = sE ¢ == —
L S+f 1_|_£
e # of unemployed people who find jobs =# of employed S
people who lose or leave their jobs
o , U_ _oo01
the labor market is in o 7 0.0140.20
steady state, or long-run equilibrium,
if the unemployment rate is constant . Echn 1% notepsan paboty

. N 20% nonyumnmn paboty



Why is there unemployment?

e Policy implication

e A policy will reduce the natural rate of unemployment only if it lowers s or
increases f

* If job finding were instantaneous (f = 1), then all spells of
unemployment would be brief, and the natural rate would be near
Zero

 There are two reasons why f < 1:
1. job search (ppuKunoHHas 6e3paboTnua)
2. wage rigidity (cTpykTypHaa 6e3paboTtmua)



OpUKLUMOHHAA Be3paboTnLa

e [TpUyMHa - HecoBepLUEHCTBO PbIHKOB (frictions)
e caused by the time it takes workers to search for a job

e MoxeT bbITb Aaxe eC/in pa60Ta €CTb U 3apnaaTbli CMNOCOOHDI noacTpanBaroOTCA

e Occurs when:
 Workers have different abilities, preferences
e Jobs have different skill requirements
e Geographic mobility of workers not instantaneous
e Flow of information about vacancies and job candidates is imperfect



CTPYKTYpHble n3ameHeHUA

e def: changes in the composition of demand among industries or regions

e example: Technological change
increases demand for computer repair persons, decreases demand for
typewriter repair persons

e example: A new international trade agreement causes greater demand for
workers in the export sectors and less demand for workers in import-competing
sectors

e Textile and discouraged workers

e |t takes time for workers to change sectors, so sectoral shifts cause frictional
unemployment.



M Agriculture
W Other industry

CTPYKTYPHbIE M3MEHEHWS

Sectoral shifts

2000

B Manufacturing M Agriculture

= Services w Other industry

Source: World Development Indicators, World Bank

® Manufacturing

= Services
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More examples of sectoral shifts

Late 1800s: decline of agriculture,
increase in manufacturing

Late 1900s: relative decline of manufacturing, increase in service sector

1970s: energy crisis caused a shift in demand
away from gas guzzlers toward smaller cars.

In our dynamic economy,
smaller sectoral shifts occur frequently,
contributing to frictional unemployment

What makes make up a classical argument



Public Policy and Job Search

Govt programs affecting unemployment

Govt employment agencies:
disseminate info about job openings to better match workers & jobs

Public job training programs:
help workers displaced from declining industries get skills needed for jobs in
growing industries



Unemployment insurance (Ul)

Ul pays part of a worker’s former wages for a limited time after losing his/her job.
B EC 3HauuTenbHoO BblWwe, yem B CLUA

Ul increases search unemployment, because it:
* reduces the opportunity cost of
being unemployed
* reduces the urgency of finding work
* hence, reduces f

Studies: The longer a worker is eligible for Ul,
the longer the duration of the average spell of unemployment.



Benefits of Ul

e By allowing workers more time to search,

Ul may lead to better matches between
jobs and workers,

which would lead to greater productivity and higher incomes

MeHblue AaBaeHUsa Ha NOUCK PaboTbl 1 Bblille BEPOATHOCTb, YTO «MJIOXOE»
npeanoxeHue pabotbl byaeT oTBEpPrHyTo

e CKopee Bcero npuBoamuT K better matching



[TonbITKM pedopmmnpoBaTb Ul

* He partially experience rates, a 100% parcent experience rates

* He ByaeT cTUMYAa «CKMAbIBATb» pabouyto cuay Nnpu BpemeHHOM
cnpoce

e [TomoxeT NobopoTbCs € «N10XoMn» bespaboTmuen



Why is there unemployment?

U S 1

L=5+f=

I
1+%

* There are two reasons why f< 1:

poNe ¥ 1. job search
Next & 2. wage rigidity



Unemployment from real wage rigidity

Real Supply

If the real wage |
wage 1S Unemployment
stuck above /
the eg’'m . A

Rigid feemn 2 N
level, then e |
there aren’t wage ;
enough jobs \
to go Demand
around. ’

Labor
Amount of

Amount of labor

labor hired .
willing to work



Unemployment from real wage rigidity

If the real

wage Is

stuck above Then, firms must ration the
the eg’'m scarce jobs among workers.
level, then

there aren’t

enough jobs
to go Structural unemployment:

around. the unemployment resulting

from real wage rigidity and
job rationing.




Reasons for wage rigidity

Minimum wage laws
Labor unions

Efficiency wages



1. The minimum wage

* The minimum wage is well below the eq’m wage for most workers, so it
cannot explain the majority of natural rate unemployment.

* However, the minimum wage may exceed the eq’m wage of unskilled
workers, especially teenagers.

* If so, then we would expect that increases in the minimum wage would
increase unemployment among these groups

e B CLLUA 30-50% cpenHeit 3/n B NPOMbILL/IEHHOCTH

e HekoTopble cumTatoT, 4YTo tax credit nyywe, yem MUHMMaNbHasA 3/n
e Earned tax credit byaet Bbilwie, yem 3apaboToK M rocygapcTso byaeT Aonaa4ymBaThb
e 3aTpaTbl Ha TPYA ANA BU3HeCbl TaKUM 06pa3om He B3BUHUYMBAIOTCH

e KTO 3TV HEKBAIMPULMPOBAHHbIE KOFO0 Mbl NbITAaEMCH CNACTU



http://www.bls.gov/cps/minwage2010.htm

The minimum wage in the real world:

In Sept 1996, the minimum wage was raised
from $4.25 to S4.75. Here’s what happened:

Unemployment rates, before & after

3 Q 1996 15t Q 1997
Teenagers 16.6% 17.0%
Single mothers 8.5% 9.1%
All workers 5.3% 5.3%

Other studies: A 10% increase in the minimum

wage increases teenage unemployment by 1-3%.

slide 24



2. Labor unions

* Unions exercise monopoly power to secure higher wages for their
members.

 When the union wage exceeds the eqg’'m wage, unemployment
results.

* Employed union workers are insiders whose interest is to keep wages
high.

* Unemployed non-union workers are outsiders and would prefer
wages to be lower (so that labor demand would be high enough for
them to get jobs)

e Mpumep LLiBenuapum
* LI,eHTpaI'IVI3OBaHHOG NnpPaBUTENIbCTBO



Union membership and wage ratios by industry, 2001

industry # employed | U % of | RBU % wage
(1000s) total of total ratio
mining 531 12.3% 12.9% 103.4
construction 6,881 18.4 19.0 151.0
manufacturing 18,149 14.6 15.5 105.9
transportation 4,441 24.1 25.4 127.8
comm. and pub util 2,981 22.6 23.7 104.2
wholesale trade 4,540 5.5 5.9 105.8
retail trade 20,505 4.5 5.0 117.8
fin, insu, and real est 7,648 2.1 2.8 90.1
services 34,261 5.9 6.8 103.3
government 19,155 37.4 41.8 121.1
all 119,092 | 13.6% | 15.09% | 118.0

RBU = nonunion workers represented by a union

wage ratio = 100x(union + RBU wage)/(nonunion wage)

26



3. Efficiency Wage Theory

e 3/n BbilLle paBHOBECHOMN AaXKe ec/n ecTb 6e3paboTHble U AaxKe ec/i KOMMaHUA ABHO
MOXHO COKOHOMMUTb Ha BbinNaaTax:

e attract higher quality job applicants

e Adverse selection
. « g . Bce Teopun oaMHaKOBbI B
* increase worker effort and reduce “shirking” oM qT:chpt\'E/Il\bl (OTOpbIE

 Moral harard MNaTAT Bbllle PaBHOBECHOM
* reduce turnover, which is costly pabotatoT a¢pdekTMBHEE

e improve health of workers
(in developing countries)

* The increased productivity justifies the cost of paying above-equilibrium wages.

e The result: unemployment

e Uctopua c leHpun ®opagom
e Mnatnn 55, a He 35 3a 8MM YaCOBYIO CMEHY
 High wages means lower costs



Why is there unemployment?

U S 1

L=5+f=

f
1+ S
* There are two reasons why f< 1:
poNe ¥ 1. job search

DONE v~ 2. wage rigidity



[topauma 6e3padboTmLbl

e KopoTKkue nepmoabl 6e3paboTrubl UMeT PPUKLMOHHYIO NPUpPOaY
e 1NNHHbIE — CTPYKTYPHYIO

e C 1990 no 2006 — 38% 6e3paboTHbIX OblNN TAKOBbIMU MeHee 4
Heaenb

e 31% 6onee 15 Hepenb

e lpyrumm cnoBamm 71% sBpemeHun 6e3 paboTtbl Obln MO NPUYMHE TEX KTO HE
pabotan bonee 15 Hepenb

* BaxkHoe pa3nnymne ana policymakers



The duration of U.S. unemployment, average over 1993-2002

amount of time
# of unemployed | these workers spent

# of weeks persons as % of unemployed
unemployed total # of as % of total time
unemployed all workers spent
unemployed
1-4 39% 6.5%
5-14 31% 20.5%

15 or more 30% 73.0%




The duration of unemployment

* The data:

More spells of unemployment are short-term than medium-term or long-
term.

Yet, most of the total time spent unemployed is attributable to the long-term
unemployed.

e This long-term unemployment is probably structural and/or due to
sectoral shifts among vastly different industries.

e Knowing this is important because it can help us craft policies that are
more likely to succeed.
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Bcnneck aropaunn B nepmnoa Benmkon Peueccnm

e Robert Barro

Generous unemployment insurance programs have been found to raise unemployment in
many Western European countries in which unemployment rates have been far higher than
the current U.S. rate. In Europe, the influence has worked particularly through increases in
long-term unemployment

e Paul Krugman

Do unemployment benefits reduce the incentive to seek work? Yes: workers receiving
unemployment benefits aren’t quite as desperate as workers without benefits, and are likely to
be slightly more choosy about accepting new jobs. The operative word here is “slightly”: recent
economic research suggests that the effect of unemployment benefits on worker behavior is
much weaker than was previously believed. Still, it’s a real effect when the economy is doing
well. But it’s an effect that is completely irrelevant to our current situation. When the economy
is booming, and lack of sufficient willing workers is limiting growth, generous unemployment
benefits maﬁ)f keep employment lower than it would have been otherwise. But as you may have
noticed, right now the economy isn’t booming—there are five unemployed workers for every
job opening. Cutting off benegits to the unemployed will make them even more desperate for
work—but they can’t take jobs that aren’t there. Wait: there’s more. One main reason there
aren’t enough jobs right now is weak consumer demand. Helping the unemployed, by putting
money in the pockets of people who badly need it, helps support consumer spending.



http://online.wsj.com/articles/SB10001424052748703959704575454431457720188
http://www.nytimes.com/2010/07/05/opinion/05krugman.html

(% of labor force)

TREND: The natural rate rises from 1960s to early ‘80s, then falls from
mid-80s to 2000
nonpobyem 06bACHUTb 3TOT TPEH/, C MOMOLLL TEOPUM KOTOPYHO NPOLLAN
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EXPLAINING THE TREND: The minimum wage

S per hour

1 '—'—l—

_J

0

1945 1950 1955 1960 1965 1970 1975 1980 1985 1990 1995 2000
—nominal (in current dollars) —real (in today's dollars) 35


http://www.dol.gov/whd/minimumwage.htm

EXPLAINING THE TREND:

Union membership

Union membership

selected years

year percent of labor force
1930 12%

1945 35%

1954 35%

1970 27%

1983 20.1%

2002 13.2%

Since the early
1980s, the natural
rate of unemploy-
ment and union
membership have
both fallen.

But, from 1950s
to about 1980,
the natural rate
rose while union
membership fell.




EXPLAINING THE TREND: Sectoral shifts

(per barrel, in 2001 dollars)
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EXPLAINING THE TREND: Demographics

* 1970s:
The Baby Boomers were young.
Young workers change jobs more frequently (high value of s).

e Late 1980s through today:
Baby Boomers aged. Middle-aged workers change jobs less often
(low s).



Bcnneck 6e3paboTtuubl B EBpone
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Bo3amMoKHble 0bbacHeHUA

* BONbLUMHCTBO CTPAH AAKOT ANUTENbHbIE NOCObBUA MO
be3paboTuubl
* B KAKOM-TO cMmblIC/iIe NONyYaTeNU BOODOLLE He YacTb
9KOHOMMYECKN aKTUBHOro HaceneHus
* [eXxHONOTrn4YecKkme n3ameHeHua
* CHUXEeHMA crnpoca Ha HEKBAaNAUDULMPOBAHHbIN TPyA,
e B CLLUA e 310 npmuBeno K 60nbllen pasHULbI B 4OXOAAX,
NOTOMY YTO 3apnaaTbl MeHee XeCTKue

e Echn ybpaTb nocodbuda, To MHOTrMe BbINAYT Ha paboTy, HO
pPa3HMLA B 40X04ax BblpacTeT
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The Rise of European Leisure

 CTaTUCTUKa:
e CpeaHnn amepuKkaHel, paboTtaeT 60oblUe YacoB
e B EBpone paboyne gHUN 1 HEAEIN KOPOYE
e B CLLUA Bblwe KO3PPMUMEHT yyacTua B pabouen cune

* [MnoTesbl:
* Prescott — tax
 Underground economy — again taxes

e Alesina, Glaeser — collective bargaining
e Lobbying of holiday as well

e Blanchard — preferences
 Unemployment represents wasted resources
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Inflation
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Price level, P

Price level, P
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The Phillips Curve
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The Phillips Curve
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JlononHUTEeNbHbIE MaTepuansbl

e Civilian Unemployment Rate
e Federal Reserve Economic Data (FRED). US. Bureau of Labor Statistics

e XBble U mepTBbIE

e I3meHeHuA, nponcxoasallme Ha PbiHKe TPpyaa, CBUAETENbCTBYIOT O
3aBepPLUEHUM INOXU «NErKUX AeHer»

49


http://research.stlouisfed.org/fred2/graph/?g=Tm0&utm_source=Twitter&utm_medium=SM&utm_campaign=Twitter
http://expert.ru/2014/12/11/ryinok-truda-manevriruet/
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